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<ztring.h=
Simaing
i
int i, keyl, key2, str_size = 0. /1 HHEE BIXE, kevl, key?2 © 7145, strosize © EFHE Z0]
char sentence[100]: A/ Z & 2 2 E
char veril, veri2; J/3| 5 dME

printfi"HEZEAE ZEE UESH Z Hn" L
getsisentence )
str_size = strilen{sentence): S/2FZE 0 =H

printf("®=HI FE & =345 LEIHZ (&5 t= Mn" L
gocanf("fd”, &(intkewl
rewind(stdin): SAZEIRE T WIS 2 UsEHE HH

printf("SFHI FE & =345 LEIHZ (&5 t= Mn" L
goanf( " fd”, &(intikev2
rewind(stdin):

keyl I= 26; FAFEYE B2 E L LIHAZE OFE.
key? I= 2(: Aflkey12p OFEFILE
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veril = 0, veri2 = 0;
if (weril + keyl
veril += 26

-

if (weri? + key? < 07

weri? += 26
VB
VR Z

if (weril == veri2)

{

al

{veril + kewl) ¥ 26
{veri2 + kev2) ¥ 26

OF
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printf{"ZHm 12t 2= 48 7HA= =AUUCHAOE =58

scanfl "Ed”, &kew2)

rewindistdin ).
1

Fowhile {veril == wvari2l;
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for i = 0; i <« str_size; | += 2) AfE I T EE
i
if (sentenceli] == '&' && sentenceli] == 'Z2') //HERZLU
i
sentenceli] -= "&4"; AFZFE 0-252 OFS 7| 2|5 A(gh)OFS
if (sentenceli] + keyl = 0) /A/7] 2fS M E M 0H2f S52tH 268 O ECH, HEE AZ Flif0 S22 2FH HME M 95,
sentenceli] += 26
sentenceli]l = (sentenceli]l + keyl) & 26: //3|3FS Ol g,
sentenceli] += "&4'; A/CHA] MERIE O =,
}
else if {sentenceli] == 'a' &% sentenceli] <= 'z') S/ L0y
i
sentenceli] -= "a':
if (sentenceli]l + kewl = 07
sentenceli] += 26
sentence[i] = {sentencel[i] + kewl) ¥ 26
sentenceli] += "a':
}
else if (sentenceli] == ' ") J/AEFEOES 26 T H2E _E HHE,

sentence[i] = 95
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for (i = 1; i=str_gize: | += 2) AT YEEHNIlES EFHNE E£5)
{
if {zentenceli] == & && sentencelil == ')
i
sentenceli] -= "4

if (sentenceli] + kew2 = 07
sentence[i] += 26

sentence[i] = {sentenceli] + kev2) ¥ 26
sentenceli] += "4
h
else if (sentencel[i] == "a’ &% sentenceli] <= 'z°)
i
sentenceli] -= "a':
if (sentenceli] + kew2 = 07
sentence[i] += 26
sentence[i] = {sentenceli] + kev2) ¥ 26
sentenceli] += "a":
h
elze if {gentenceli] == " ")
sentencel[i] = 95;



printf{"HZ = FEitn" )
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B#include <stdio. h=
L#iﬂclude <giring. h=
Hmain{)

:

int i
==

printf("&U =3t 2A}3

for (int i =0; i < strilen(key);
{

f (keyli] >= 'a'&Bkey[i] <=

keyd[i] = key[i] - 'a";

1 se if (key[i] == 'A'GBkey

keyd[ 1] = key[i] - "A";

ol se kevd[i] = keyli] % 26;

i++)

") gets(key);
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printf("#nd=ste FRAES

L

E'ﬂaﬂﬂﬂﬁlj

for (i =0; i <strlen{sen); i++)

f [SEH[i] >= 'g' &&

| sen[i] = ({sen[i]
if (sen[i] == 'A' &8

sen[i] = ({sen[i]

sen[i] <= 'z")

— '5' 4 Heyd[i%ﬁtf|9ﬂ[ﬁ9?}]]

sen[i] <

- 'A" + keyd[i%strilen(key)])

W o26) + 'a';
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sen[i] = ((sen[i] - 'a' + kevd[i%strien(key)]) %

1. =238t EX1EO| stEX} sen[ilflAM X2 HEHEl B2 7| keyd2t H
o7 24 a= 00f CH Sk =5 aSHl|ECF.

2. ¥=27|keyd= =XIEsen?| ZO|2tE HISE|H [ SE[OfSto =

Key[i%strlen(key)]2 2 A|Ltsl| T =L}
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LI= LIHX| S Al4botC},
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= (sen[i] + 26) % 26 + 'a';
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2% 7| keyd[i%strlen(key)]

- O A AL o senlil = (senlil + 26 % 26 + '3':
o| Xj= 2471 E2 9l 56 (sen[i] + 26) % 2€ 3"
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